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PART - A (General Intelligence & Reasoning)

Q.No: 1 All flowers are plants. Some plants are flowering plants. Which conclusion is logically valid?

goft oot T 81 F2 1Y Gerer e &1 &t o e arfdhes w0 @ A 22

Mo plants are flowers

1S T el 81 &

Some flowers are not plants

5O ol utd g &

lSome plants are flower

All plants are flowers

T ot et &

Q.No: 2 Ina race of 40 runners, if Anu is placed 15th, how many runners are ahead of her?

40 4Tehl I Uk 318 F, A off 153 M WR g, df 394 3 fohed urah 87

15
15
16
16
13
13

Q.No: 3 Ineach of the following questions, a word is transformed into another word by applying a specific alphabetical pattern to each of its
letters. Identify the logic used in the first pair and apply the same logic to the second word to determine the correct answer.
DREAM : GRDBM :: MAGIC: ?

Frfef@d ude Uy #, geh =2 &! 39 Udlsh H&R U Yeh fAfe quiATerr 8- o] ek g@ 2Teg H Jall 11 &1 U wils 4 Uged deh
ol TgITY o Tgt Fox FuiRa v & forg 3t 9 &l R 2reg ur i Rifeigy
DREAM : GRDBM :: MAGIC : ?

uLooL

ULOOL
ZEENE

ZEENE
CAR (]
CARJC
TEEFO
TEEPO
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Q.No: 4 Input: 42 kite 93 balloon 37 lemon orange 64
Step I: 93 kite 42 balloon 37 lemon orange 64
Step II: 93 balloon kite 42 37 lemon orange 64
Step lll: 93 balloon 64 kite 42 37 lemon orange
Step IV: 93 balloon 64 lemon kite 42 37 orange
Step V: 93 balloon 64 lemon 42 kite 37 orange
Step VI: 93 balloon 64 lemon 42 orange kite 37
Question: What is the logic behind the arrangement?
e 42 UdT 93 e 37 Hig Al 64
TROT |; 93 U 42 TedRT 37 Hig AR 64
TROT |1 93 TeaRRT e 42 37 Aig At 64
TR07 |11: 93 T[RRI 64 U 42 37 Aig At
TIOT |V: 93 T[T 64 i adT 42 37 ARt
TROT V; 93 T=aRT 64 19 42 TdT 37 AT
TROT V/I: 93 TeaT 64 g 42 10 gdw 37
U Saeyl & Ui deh &Rl 87

Largest number to front, then alternate word /number shifts
g g3 g A, i A fcies e [gwe wFiaia
Words alphabetically left, numbers descending right

2= qUITeRA # At 3R, Hweany ged gy il 3k

Mumbers and words arranged alternately by rank

Ty 87X 2Teg HATER ddhfodd 0 I aqaiedd fhg 1Y

Mumbers descending left; words in reverse alphabetical order right

TS IR eIl oA | FE@ATY; 278 3R Je JUTHTT 3-8 H 21ag

Q.No: 5 If 3 men and 2 women are seated in a row, how many seating arrangements are possible such that no woman is seated next to
another woman?

4 3 yow 3R 2 Afged U tfert 46 &, ot forail a8 ol sgaen @y @ & =i +ff afgen frdt o ufgenr & ama d 7 9482
12
12

36

36
72

72

Q.No: 6  ldentify the missing number in the series.
1,1,2:3:5:8 13,2
el § i de ugaH |

1,1,2,3,5, 8,13, 2

20

20
24

24

Q.No: 7 |In a certain code, ‘A + B' means A is the mother of B,’A x B' means A is the father of B,'A - B’ means A is the sister of B,What does P
x Q=R mean?

s AT HESH, A+B FTHAEABHIATGE, ‘AxB N ATEA BRI UME, ‘A-B' FTHNIEA BRI TGI8, PxQ-RAT T AT ?

1s the father of Q and Q is the sister of
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I, o &1 ftar @ 3R Q, R Fi =g

Q is the sister of R and Q is the sister of R

Q R&ATTEAZ AR Q R\ TEAE
P is the father of R and Q is the sister of R

PREFTUAIZ 3R Q RFTTgT 2
P is the brother of R and Q is the sister of R

P,RA#IWEZ AR Q RATTEAR

Q.No: 8 Four friends X, Y, Z, and W each have some marbles. X gives ¥ as many marbles as he already has, gives 7 twice the amount of
marbles Z already has, and gives W thrice the amount of marbles W already has. Then, W gives 1/6th of his marbles to Y. Afterward, X
gives 10% of the marbles he now owns to Z and 20% to Y. Finally, all of them have 50 marbles each. What was the original number
of marbles each friend had?

IR G X, ¥, Z AR W H G U o UTH §© Al6d g1 X, ¥ &l I g1 Al6d &dT1 g fold" 3%eh U Uge & g, Z &l 7 oh UTd Ugel 4 Hiulg
HTeiel ch HWEHT &1 AT &dT 8§ 3 W ol W o UTH Uget & HIG[E ATaiel chl T & fai1 &1 g1 fihe, W oIt ATelel =61 1/6 WA ¥ < &1 81
IES 91e, X AU UTH HIGIE Al &l 10% Z 61 iR 20% Y ol & g1 3id #, 9 44t & urg 50-50 Aol gid 81 Uelddh (A & o J1 &0 8
fehe A 9?

%-100,Y-15,Z-15 w-10

%-100,vY-15,Z-15w-10

%-110,Y-10,Z2-10,w-8

%-110,Y-10,Z2-10,w-8

%-90,vY-40,2-20,w-30

%-90,Y-40,7-20,w-30

%-120,Y-30,7-30,w-20-

%-120,Y-30,Z-30, w-20-

Q.No: 9  Compare the following two addresses.
Address 1: Ms. Neha Verma, Flat No. 204, Tower B, Green Acres, Pune - 411045
Address 2: Mrs. Neha Verma, Flat No. 204, Tower B, Green Acres Society, Pune = 411045
Are these likely to be the same?

FAfeifed &1 ual & gemn 3

uar 1: gt Aigr aaf, wie F=7 204, e ft, 1 wed, gt - 411045

uar 2: it Agr anf, wete 48 204, giaw o, 19 yed daEd), gut - 411045
ERI ReC

Mo, city codes do not match

Agl, 2ge &is #d g @

es, all major details matc
, JHT T

No, the flat numbers are different

gl UetE FaT AT

Mo, the name titles are different

8!, A9 o sfife e &

Q.No: 10  Choose the missing number in the below series.

100, 95, 90, 85,72 ,75
I &Y g sjmen # Jud T g

100, 95, 90, 85,7, 75

82
85

85


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eonale Play

Q.No: 11 A person is facing north. He walks 30 meters and turns to his right, walking 20 meters. Then, he turns to his left and walks 30 meters.
Which direction is he facing now?

U et o= feam i ofiv fg o @eT 81 78 30 Hiex Teran 3R v 2 g3y 20 Hiex 9aar 21 i, 98 oo 91 ggaw 30 e
A1 g1 31" g fohe fEam < ofik Hg e @a1 g7
South

zfaror

West

ufgH

East

o

Q.No: 12 Four of the following five are alike in a certain way and hence form a group. Which is the one that does not belong to that group?
A. BRIGHT : DSJHF
B. CUSTOM : FVUUP
C. FLIGHT : HNIJI

D. CHANCE : EKBMF
E. STRONG : VUQPR

i@ ufe § & 9r g fifga ®0 8 g S ¢ ok 390 U 89 991d §1 98 S &1 ¢ Sl 39 g & e ¢t 87
A. BRIGHT : DSJHF
B. CUSTOM : FVUUP
C. FLIGHT : HNLJI
D. CHANCE : EKBMF
E. STRONG : VUQPR
STRONG : VUQPR

STRONG : VUQPR
FLIGHT = HNLI

FLIGHT : HNII
CUSTOM : FVUUP

CUSTOM : FVUUP
BRIGHT : DSJHF

BRIGHT : DSJHF

Q.No: 13 Sahil completed B.Sc. with 66% and M.Sc. with 60%. He has 1 year teaching experience and is 24 years old. What should be the
action?

arfge 7 duaelt 66% afiT TATTHT 60% 3ieh! & ATy T 1 €1 38 1 1ol 1 TALT0T AT & 3fiX ITRI 99 24 AT &1 1 R4S gt
=11Eg?

Refer to Principal

e & Tueh e

Select directly

e Iz &

Reject due to low experience

FH IIHE & HRUT AEFR

Keep pending for verification

AU g wifad

Q.No: 14 | How many ways can 4 people be seated in a circle if two people must sit next to each other?

o & eafdd geh gFR o =Tel | =18 1 4 eyl =it Geh g # feha=) adien! § =aTan ot dehal 87

[=a T =y = < T -]

Y
=]
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Q.No: 15 Imput: Box 53 21 Mobile 86 Tiger Fan 39
Question: What will be the Step Il of the arrangement?

FYe: died 53 21 HiaSd 86 13T A 39
T ST &l =207 || T gIT?

86 21 Box Mobile Tiger Fan 39 53

86 21 STo9 A=T8d S5 T 39 53
86 Box Mobile 53 Tiger Fan 39 21

86 ST Hi=TSer 53 €9 T 39 21
6 Mobile Box 53 Tiger Fan 39 2

6 a1 53 TN h 39 2
86 Box 53 Mobile Tiger Fan 39 21

86 9199 53 H=Ed €9 T 39 21

Q.No: 16 If you are facing east and move 10 meters, then turn to your left and move 5 meters. Which direction are you facing now?
afg i gd i 3R Hg ek WS § oY 10 e amt ggd &, 3 oro and ot 13 afiR 5 Hiew ot 931 o any R fan Y e g &
TS E?

West

‘é‘

South

East

Q.No: 17  Among five persons — P, Q, R, S, and T:
P is taller than only T.
Q is taller than P but shorter than R.
S is the tallest.
Who is the shortest?

urg afgadi - P, Q, R, S, AR TH &
P ohad T T @1 8|
Q,PEdal g Al R T BT 21

S 999 AF1 8l

gad BT A 2?

‘

Q.No: 18 Ina 50 L mixture milk to water ratio is 3:2. How much water must be added to make the ratio 1:17
50 wiier & Beyor & g ofi urHt &1 iuTd 3:2 81 oruTd 1:1 &= o [og feha=r urt e ghm?
151

15 ftex
20L

20 eftex
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12 L
12 eftex

Q.No: 19 Which figure breaks the pattern?
OOmCmCOmm

7 s O A dred 22
OO0 .

6”1'
glh

Q.No: 20 If ¥ is the father of ¥ and ¥ is the mother of Z, then how is X related to Z?
afgx, y P UaTg iRy, ZRI AT, ST X P Z A FAT G &7
Father-in-law

Y

Uncle

‘

Brother-in-law
HTedl

Q.No: 21 Sandeep was given some money by his father. He spent all of it in six shops. In each shop, he spent one rupee more than half of what
he had when he entered. How much money did Sandeep receive from his father?

& Y 35 a1 3 Fo 09 g 4| 39 3 R 0% 9 g1 A @9 & (1 8% gt & 39 Ut ol § U wuan wonel @ fohan) |
&l 2 firar & foram o fae?
127 rupees

127 34U

15 rupees

15 g

31 rupees

31 3Uq
63 rupees

63 FUY

Q.No: 22 In a class of 45 students, Rahul is ranked 20th from the top. If the students are arranged in the descending order of ranks, what will
be Rahul's position from the bottomn?

45 BT &1 e et |, Age At & 204 @ wr 31 afe ol it raidl se § snaled féar Sy, o =i @ g o i an ghm?
26th

264
23rd

234
24th

244
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Q.No: 23 Ifin a certain code, SUN is written as 54, and MOON is written as 57, how is STAR written?
e Tt FT2d shie & SUN &1 54 94T MOON T 57 forar &9 €, df STAR &l fond wenme forar smomm?

Q.No: 24  1f 5#3=8 and 7#2=9, then what is the value of 9#47?
AR 5#3=8 iR 7#2=9, T 944 oI 71 &1 &7

Q.No: 25  Find the number that doesn't belong:
98 1 1 3 ot 39 g ° A8 &

11,13,17,19

11,13,17,19

23,29, 31, 33
23,29, 31, 33
2,3,57
2,3,57

Q.No: 26  Complete this series: 131, 137, 149, 163, 181, 7
3 of@e &l QU Y 131, 137, 149, 163, 181, ?
21

21
193

193
191

191
197

197

Q.No: 27  Which of the following actions shows the best judgment in a social situation?

FreferfEa & @ &1 4t fema grATieies uRfRfa § gata o g 87

ering help to an elderly person carrying heavy ba

o 3¢ Ueh g
Yelling at someone who bumped into you

forelt U9 =fey W= oo St onus 2ahey T 8
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Posting negative comments online anonymously

A U & SHesH AhRIAS CuoET URe el

Ignoring a crying child in a public place

Arefeti-eh TH R A §Y &= ol AGRATS el

Q.No: 28 AlistoCasEisto:
A, ¢ T 3¢t yR Hefda & o UR E;

I

I

H

H
A

F

Q.No: 29  Find the next term in the given series. B, DE, HIK, 7, WXYZB
&1 7S ofge # aFTen Ug 91 ST B, DE, HJK, 7, WXYZB
S371

S37T1
R74A

R74A
OPQR

OPQR
1897

1897

Q.No: 30 | IfAis the mother of B, and B is the father of C, then how is A related to C?
gt A BRI A ok B, CH UM E, T AR CE T §?

Mother

o

|l
Aunt

il

Q.No: 31 A boat travels 40 km upstream in 4 hours and downstream in 2 hours. What is the speed of the stream?
Qeh AT 9121 o Wit 40 fereft &t ol 4 692 # afiR 91 o ajahe 2 ©¢ H 90 ahed! g1 oIRT ! 11 m g7

3 km/h

3 el /g

4 km/h

4 feetfeer

6 km/h

6 e/ ger

5 km/h

5 fentfi/gzr

Q.No: 32 Find the next term in the given series. K1F, M3E, 08D, Q19¢, ?
&1 TS oj7geT & anTe ug, 919 FIAgI K1F, M3E, 08D, Q19¢, ?


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

s37c
s37¢C

S47B

5478
T42A

T42A

Q.No: 33  Statements:
1. All books are papers.
2. All papers are trees.
Conclusions:
I. All books are trees.
Il. Some trees are books
Y
1. ot fahard e g1
2. i e U E1
e
1. Tt ferare 4 81
Il § U3 fhare &

Only Il follows

hadl || SFTNOT ST &

Only | follows

had | STHIUT el B
Both T and 11 Tollow

Meither | nor Il follows

Fat | R A g 1 HTEROT el &

Q.No: 34 Nishant has 68% B.Sc., pending M.Sc. result, 3 years teaching experience, 27 years old, willing for probation. What to do?

a1 & U 68% =uat 8, UA.gwl. T Retee 1741 @1eh! 8, 3 Hiet o 18701 3w 8, 27 Uil o &, Wi & fag dgr &1 & &he?

Wait for result then decide

URUT & SdoTR & e FAufa o

Reject due to incomplete PG

3ot disft & T eRdtgd

Refer to Principal
Tifager & duh &<
Select Nishant
[ERICRCIRUCR: TS

Q.No: 35 If "A" is coded as 2, "B" as 4, "a" as 11, "b" as 12 (following a pattern for capitals and small letters), what is the code for "Hi"?

R "A" @12, "B" S 4, "a" &l 11, "b" HT 12 (I3 R BiE A& & OesT Al ATEW T gY) & ®U H his fnar wran g, o "Hit & g
&hig T ghm?
17, 20

17, 20
19,22

19, 22
18, 21

18, 21

Q.No: 36 A man walks 10 meters south, then turns left and walks 15 meters. In which direction is he now from his starting point?
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Qe rgHt 10 Hiex afgor i ok Ierar &, i 91 g2 & oz 15 Hie Iodl 21 319 98 31U URH foig 4 fov fean & g7

Morth

IR E5E
East

o

oy th
cfar
West

RIEL

Q.No: 37 |In arow of 8 seats, how many ways can 3 people sit next to each other?

8 Hiel &1 g diert #, 3 Wi Yeh g8 o a7Ter A foha adienl & & Hend €7

‘

Q.No: 38 In how many ways can 5 people be seated in a row such that A and B are not next to each other?

5 il sl U Ui & I iR S dom s gaai g fr A eRB U g T A 78?7

‘

Q.No: 39  Select the correct option that will complete the series. (2, 7), (3, 13), (5, 31), ?, (11, 133)
ag Het [ehey gAY St @ &t g (2, 7), (3, 13), (5, 31), 2, (11, 133)

(10, 101)

(10, 101)
(8,76)

(8,76)

(9, 91)
(9, 91)

Q.No: 40 A coding rule is followed by Roll numbers ending with an even digit belong te Batch 1 and Roll numbers ending with an odd digit
belong to Batch 2.
Identify the roll number for Batch 1 and Batch 2.
IS Fra| & FIHR 99 3ieh IR T 8 919 9d A= a9 1 & & 3R s o R 90919 g4 ara A Aee g 2 & &)
=9 1 afl 39 2 & UdA A9 chl Ugd™ He
D1400 and C3882
D1400 3% c3882
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£2894 and F391/]

A3841 and B4537

A3841 3z 4537
G8763 and F4711

G8763 aflR F4711

Q.No: 41 All men are mortal. Socrates is a man. Which of the following is true?

gl A7 7 §1 ad Uk A9 g | e § 9 & o sva 3@ 8?7
Socrates is not mortal

YHIE TR T &

Socrates is immortal

Yehd A g

Socrates is a god

YRd Udh adT &

Locrale [ortg

EE

3]

Q.No: 42 All birds can fly. Some birds cannot fly. Which of the following conclusions is correct?

Q R T A 3:2 o argurd | (e feami <t &6t 2800 = TRITET AT el o1 feRaAT €7

All birds can swim

gfiueh RaFad &

Some birds are fish

T vefl aoe &

Some birds cannot fly

Fo vafl 33 75 9ad

All birds are animals
gt usft SR §

Q.No: 43 Select the correct option that will complete the series. (2, 3), (5, 24), (8, 63), 2, (14, 195)
ag Hel [aehey gAY St @ &t gz e (2, 3), (5, 24), (8, 63), ?, (14, 195)
(9, 95)

(9, 95)
(10, 57)
(10, 57)
(71, 120)

(11, 120)
(12, 136)

(12, 136)

Q.No: 44  Find the missing term in the following series.
ACE, BDF, CEH, DGlI, ?
frfeiEd oj@en | qud ue 3 Syl

ACE, BDF, CEH, DGI, ?

EIK
EGI

EGI
EIM
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Q.No: 45 DistoHasJisto:
D,HHOAFE, S99 ), _FIaF 8

|

Q.No: 46 Ifin a certain code language, "TRIP" is written as "USJQ", how will "JUMP" be written in the same code?

e fehelt AT g v &, "TrIP" &f "uUsIQ" forat WA g, df St i e & "JumMP" Fit fohg W forar stoem?
KvVoQ
KvVoQ
KUNQ

KUNQ
KvMQ

Q.No: 47 Input: cat 90 24 tree 48 75 flower bush
Step I: 90 cat 24 tree 48 75 flower bush
Step II: 90 bush cat 24 tree 48 75 flower
Step Ill: 90 bush 75 cat 24 tree 48 flower
Step IV: 90 bush 75 cat flower 24 tree 48
Step V: 90 bush 75 cat flower 48 24 tree
Question: What is the logic behind the arrangement?

Fye: Rieelt 90 24 03 48 75 Gt 3
=01 1; 90 feelt 24 U3 48 75 Gt TSt
=201 11: 90 F1ST feieelt 24 U2 48 75 ha
=T 1112 90 FATEN 75 faeedt 24 U2 48 Ga
TRO7 1v: 90 S 75 faeeh Get 24 U3 48
TR07 v 90 FET 75 faeelt BT 48 24 U2
u: Tae & Uie 9 = 8?
step IIl

=ROT 11
Step ||

RO |
Step V

TROT V/
Step IV

TIOT |V

Q.No: 48 If+ means -, + means +, - means ¥, and x means + then,
whatis 18 +6-2 + 87

aig+wordf -8, +F A+ g, - P11 x g, afRx Awr1ef = g, At
18+6-2+8FMg?
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28
¥

¥l

Q.No: 49  Choose the number that is different from the others.
gg e 9 Sl o g & 94 2

64

64

Q.No: 50 In each of the following guestions, a specific relationship is given between two words. Identify the word that shares a similar semantic
relationship with the given pair. Choose the most appropriate option from the four choices given below.
Knife : Cut:: Pen:?

FrafeEa uds v | 2 wrsel & =g ues faffe g R man 81 99 2se &1 uga Sifoiy ot g me gm & ary gar aref dedy g
&edl g1 A oy 1g =R fashedl # @ g9 Iuged fdeeu i)
AT @ AT .2 hefH : ?

Ink

AETh

Scribble
gEter

)\ -

o]l
Paper

RIS

PART - B (General Awareness),

Q.No: 51 Consider the below statements regarding the Aditya-L1 mission and its payloads:
1. The SUIT payload on Aditya-L1 is designed to image the solar disk in the near-ultraviolet (UV) spectrum to study the temperature
and chemical composition of the Sun’s photosphere and chromosphere,
2. The SoLEXS instrument is a high-resolution X-ray spectrometer used to study solar flares and active regions in soft X-ray
wavelengths.
Which of the above statements is/are correct?

AMfea-va1 M 3R 3% Uelis & 91 8 A Y 710 Syl ) B &

1. enfEem-yar TR SUIT UdiS ol g4 o thichehiae R AR & JioH ST THi-e S3a sl S8 6i o g Here-urret
(uv) Teem | Ok 3% &1 ofF a9 & e fEwga rarmn 21

2. SoLEXS SUHIUT Yeh Fod-Rilege Uaa-{ WagiHie ¢ forent Suaht 7w geg-¥ aa1 ouf & O uonsf ofik afthg gt o araga &

& forg fopar s =1 21
I Ry A S p AT HE g / 87
Both 1 apnd /I
[1 3R 2 2]
MNeither 1 nor 2
qdr,Tgr2
2 only
2 had
1 only
1 chad

Q.No: 52 The primary objective of the LUPEX Mission, a collaboration between ISRO and JAXA, is to:
R 3R S & 19 geai @ dafoid o M & o ST g

Study the Martian atmaosphere and soil composition
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TS UE & drgHse SR [AE Rl T ot sremad &

Deploy a communication satellite in lunar orbit

FAT hl Tl H TAR U0 a1 el
Investigate the quantity and quality of water on the Moon and explore its dark side
<A1 UR U BT AT &R TUra i S & 3R 38 SHER Ust &1 udr Y

Observe solar flares and coronal mass ejections

TR Sarenaif 3ffF SR AT SuiaeT ol ATl &

Q.No: 53  Read the following statements:
Statement 1: The process of vertical heating of the atmosphere is known as advection.
Statement 2: The transfer of heat through horizontal movement of air is called convection.
Statement 3: 'Loo' winds in northern India during summer are caused by advection.
Which of the above statements is/are correct?

Frafafaa syt =t ud:

Y 1: FYHEA o FEATER AU bl HithaT &l TadgH & &Y H SH1 &1l g
YA 2: gaT ol ST 71 o ATedH & AT o THIARUT bl TdgH hgl Sidl g
YA 3: TTHGT & SR I Ted A ' A1 Sdgd o R gidl gl

S ol § § B 91/ wa 227

All three statements 1,2 and 3 are correct
gfif s 1,2 k3 adr &
Statements 2 and 3 are correct

w2 3R 3 TE &

Only Statements 1 and 2 are correct

hada huT 1 T2 9t &

Only Statemnent 3 is correct

had huT 3 dal g

Q.No: 54  Which property of sound determines its loudness?

g Tl -1 01 FGeh! didar (d3ed) &l FuffRa wxarg?
Wavelength
qungef
Pitch
@R & (=)

Amplitude

A (QFegs)
Frequency)

ElFis

Q.No: 55  Which of the following is a subject under the State List?
fFefafad 4 @ FH-ar fawg g gt & siarfa aman g2

Banking

Sfehr

Public Ordeq

BICNIGE XLl
Defence

<

Education

farem

Q.No: 56 | Who was appointed as the CEQ (Chief Executive Officer) of NITI Aayog in February 20237
Rt 2023 # Hife i & Wigait (4 sriar! sfderl) & w0 & f6d fga foar mar?
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Dr. Sukhbir Singh Sandhu
=1 gEr g gy
Amitabh Kant

AT &hid

Dr. Vivek Joshi

B foee witeft

BVR Subrahmanya

Q.No: 57  How does Article 356 impact the federal structure of India?
H<he 356 HRd h! HHI €= i f2hd WenR UHTiad ol 87

It ensures judicial independence

TG el thi W=l @l GHTad HXdl §

It promotes decentralization

ug g &) JoEr 3ar @

It allows Centre to dismiss State governments
Ug &g ! Tl THRI Hl TG i I FAfy a1 g

It enforces cooperative federalism

U8 AR HEaATE 1 AN Rl §

Q.No: 58  Which of the following is not a correct statement regarding vacuoles?

Rfgerarat & ey & FA=fefEa § @ 219 @1 o9+ 98 781 87
acuoles are generally larger in animal cells than in plant cells
; O] chiid I urey et
Animal cells usually contain smaller vacucles compared to plant cells

uy FRASA H rHER W deff i Fifewradt £ gorn A o1 Rigawd g §

In some plant cells, the central vacuole can take up most of the cell’s volume

g Uyl & Fifemrsrt F, SEa Rigad Sifden & aAfdemiar siad- o &R Fadt §

Vacuoles serve as storage sacs for both solids and liquids

Rfgwed 31 ofR 9w &1 & g sfsro dfedt & w0 & 7 &t §

Q.No: 59  Which platform is used for submitting ideas under the INSPIRE MANAK Scheme?
INSPIRE MANAK TS & dgd AR Udd & o o1y i |1 5 wai & |ran g7

Science and Technology Portal

fa= ofiR ekt uiée
INSPIRE Portal

INSPIRE TT¢d

Mational Innovation Portal
UEY AGER Uiéd

Digital India Portal
feforea $fear uiea

Q.No: 60 Which of the following is the main reason that Prime Minister Narendra Modi meet Mr. Michal Spiczko, President of the Kabaddi
Federation of Poland?

FrfafEd 4 4 o 91 5= &R ¢ 3 v w56 s /16T A Uicls & sagl Agry & sreaet o e [Eeiet 9 gerehd Si?

Ta congratulate him on Poland's football achievements

Uieis el el Juwieadl IR 33 99TE & & g

D appreciate nis enorts in promoung kapaad) 1N EUro

EREl T
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To sign a trade agreement between India and Poland

WRA 3R Uieis & =9 IR 998l U= g5TeR

To discuss military cooperation through sports

T & A1d ¥ & 9gaiT U 94t el

Q.No: 61  Which city is home to the cricket ground, Wankhede Stadium?
s ¥isa fihde fem g s H &7

Chennai
ECH
umbal
Kolkata

iRl
Delhi

feeett

Q.No: 62 The Vice-President of india is part of which branch of the government?
HRA & IUIEUT WHR H g e &1 fgem 22

Legislative only

had faumdt

chad] bl
Judicial only

had s

Both Executive and Legislative

RiTfereRt 3t faumd =t

Q.No: 63 Which of the following is the specific port facility within Chabahar Port that India is primarily developing and operating?

AR S8E & i Feiiiad | & ot 9t {2 sewmg gfaw g 98 vRa 3w ®u & fFenfa ok d=iierd o= @187
Jask Port
TR Seag
Shahid Beheshti Port
21fee So3el Ieug
Shahid Kalantari Port
21fee heladl SeaTg
Bandar Abbas Port
X ey SGUE

Q.No: 64 Consider the following statements:
1. Madhabi Puri Buch became the first woman to head SEBI in March 2022.
2. Tuhin Kanta Pandey has been appointed as the new SEBI Chief for three years from February 28, 2025.
3. Saudi Arabia has awarded PM Narendra Modi the Order of Mubarak Al-Kabeer.
Which of the above statement(s) is/are correct?

Fr=fafas syt R &%

1. Aert O g9 A 2022 & Bt 7 7 797 arelt uget Afger =

2. gfe ahiar ais &t 28 tead, 2025 & o Tra & forg it o =1 wE fAged ot man g1
3. THE! " 7 Ui g A S HIST HTh JIR -k F T fhan g1

Suder syl | I - OT At 887

1 and 3 only

Shael 1 3R 3
2 and 3 only

had 2 3k 3
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1, 2, and 3 all are correct

1,2, dR3mfagi g
1 and 2 only

hadl 1 3T 2

Q.No: 65  Name the Indian port that is the largest exporter of iron ore?

a8 WA JS0Ng Shi--9l g Sif ¢iig 374 (I 3Y) & 9=g 981 Faida g7
Paradip Port
URTE SETg
Chennai Part
7S deang
Visakhapatnam Port
[GEULCI SRR E-LL i

OTH = B

Q.No: 66 What is the name of the writer of Tomb of Sand, the first Hindi book to be awarded the International Booker Prize?
ATRTETT Jeht YeEhR & THTHd Ugel! [gg] Uideh ‘i 3iTth &3’ & oie@eh ol ATH &1 &7

TidTsTie] ]

Arundhati Roy

Ay A

Kiran Desai

1T et

Jhumpa Lahiri

e gt

Q.No: 67 What was the role of the National Dairy Development Board (NDDin the Technology Mission on Oilseeds?
det e WieifiehRl e & adtg gy fasm 9t (NDDRT =T fie o7

o promote milk productio

FIE &l FgEm
To regulate trade policies

T it &1 Ao

To develop genetically modified crops

A F =y d uRafda wael &1 fase

To manage oilseed procurement and processing

faeieT &t wile afft THhTuT &l Hau=

Q.No: 68 Which of the following pairs is correctly matched with respect to the Schedules of the Indian Constitution?
ffafed # @ a4 o1 gm wRdw dfaas & orggfadt & dey § ag gafea g2

leventh Schedule - Powers and responsibilities of Panchayat:

-1 9]
Twelfth Schedule - Election of President and Vice-President
TRed! AT - TEufa ok Sugufa @ g
Tenth Schedule = Languages recognised by the Constitution
gadl gyl - SR gRT A1 Ui HEg
Minth Schedule - Allocation of powers between Union and States

i gy - "y 3R s & ofiw afaal o1 e
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Q.No: 69  Which of the following powers granted under the Criminal Procedure (Identification) Act, 2022 extends beyond the scope of its
predecessor, the Identification of Prisoners Act, 19207

AR Uiehar (Uga™) fdfam, 2022 & sdarid sb-df e gdadt &gt & ugam afafmm, 1920" & ga | sifde =mge §7

ermitting collection of biometric and biological dat:

e
Restricting identification procedures only to convicts
had aIftal i ug= ufkar 9 Hifaa =g
Limiting law enforcement access to stored data
Shae A A Had goirad! & 3T &l ugd &1

Allowing only fingerprints for crime investigation

FAURTY ST B heel STierdl o (20 Rl 7

Q.No: 70 Under which article can the President declare a National Emergency?
el Tt suTdeTa <t gt d@igu & e argwee & ofarid & Tt &7
Article 360

=g 360

Article 356

ArgedE 356

Article 352

B 352

Article 365

TS 365

Q.No: 71 In which year were the major economic reforms intreduced in India?
R ® v onfife gur g adf o feeg 7o 2
1990

1990
1985

1985
2000

2000
10991
1991

Q.No: 72 Which architectural style is best described by the following features: ribbed vaults, peinted arches, flying buttresses, and stained-
glass windows?

frafafad 4 @ F-d argdet 31 Rdvarei  ufenfia gt 2: R dic, THe $eve, wre @24, o @i o &t Rasfmar?
Mughal

T Sreft

Deccan

ST YRa (5)
Indo-Islamic

WRd-STHT St

Gothic
e argear

Q.No: 73 Which of the following statements are correct regarding the Unique Land Parcel Identification Number (ULPIN} system?
1. ULPIN assigns a unique ID to every land parcel in India.
2. ULPIN is a 14-digit identification number,
3. ULPIN helps track land ownership and resolve disputes.
4. ULPIN is only for urban areas and not rural land.
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fafdre 4 urler ugam S (ULPIN) HomT! & defy & Fefaf@d § 3 =9 a1 sud e 82
1. ULPIN 9RE § Uedeh JfH Uriel &1 Uek f319e ug=m™ uar et 21

2. ULPIN Ue 14-3f<hi ugam dwa1 81

3. uLPIN YA @ I 2 A ofR el @t 5o e F meg et B

4. ULPIN Shawt et &1 o ferg g, amdior yffy & forg =g

1, 2, and 3 only

1,2, and 4 only

thad 1,2, sl 4
2 and 3 only

Shael 2 3R 3
1,3, and 4 only

thad 1,3, 3K 4

Q.No: 74  Which of the following commissions is NOT a statutory body in India?

FrafefEa 3 9 19 o1 amahn ¥R § ues dunf-es e 7gf &7

Mational Commission for Scheduled Tribes

UEY SrgfEd S A

ational Human Rights Commissio

Mational Commission for Farmers

AEY FeRE ST

Mational Commission for Women

AFT HigeT AmanT

Q.No: 75 Which of the following is a key reason for the decline in the agricultural sector in India after 1991 economic reforms?

1991 & anfdfes GuRT & 918 WA # HiW &= A FR1ge o1 g R FAfiad 7 4 &9 arg?

Rising minimum support prices for all crops
Tl o o g gas gRda e d gig
Greater protection through higher import duties

I AT [eeh o AT & 37 FRen

hift toward export-oriented cash crops and reduced public investmen

DA T
Increased investment in irrigation and rural infrastructure

g afte amftor gRad 6 7 Pder 3 gfg

Q.No: 76 What is a major difficulty in the data collection process for the Happiness Index across different countries?

fafer aif & Eufiv $399 &g onihs Uohd oo & Wid &S a7 82

Recording trade statistics accurately

STUTR Hifeyeht &1 Téteh Ramifan

Lack of financial resources for advertising
femTue g fe=ita dareHt &t s
Language barriers in economic treaties

anfefer Gfeat o wreE aremd

nsuring consistent and uniform survey methods globall

LW HAHAT

Q.No: 77 Which of the following is recognized as a classical dance of India?

FrefiEd 3 9 - T YRd a9 & 9 5 Ardar und g7

(Hid Il H]
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Garba

Lavani

Bhangra

Q.No: 78 Which Indian state has the highest proportion of its workforce population engaged in agriculture?

R I 98 g HH-T1 ¢ Tl vaiidd hrefiel S St sl § dov g7

Rajasthan

HNES IR
Bihar

[ERE

Punjab
LEIC)

Q.No: 79 How many key variables are used in the World Happiness Report to explain happiness levels?

ey um=aT RUTE # ya=dT & WY ! G o g fhd= W@ =2 a1 guah fokar @ran g2

‘ 2k b o

Q.No: 80  Given below are the statements in Assertion and Reason. Choose the correct option:
Assertion (A):
The naming of “Good Friday” as a positive term is universally accepted among Christian scholars and traditions.
Reason (R):
The day is termed "Good" to signify the positive theological meaning of Jesus's sacrificial death.

it sy oz o g g §) Tl e g
wUA (A):
"T[E WhIZS" ol Ueh RIS g o &0 A AT &A1 3418 fagHT ofit wuiall & dfig ad+ifie ®u & wiar fohar 5irdn g1
&I (R):
i) <l Afcie™ YUl H & HhRIHS Uiftich oY &l ST o fely 39 A &t "3" &gl ST 81
Both A and R are false.
A 3T R 21 TTeid Bl

oth A and R are true, and R is the correct explanation of A

R O 5, dUT R, A Tl
Both A and R are true, but R is not the correct explanation of A.

A 3R R 24T T 8, @ifeh R, A &1 T WETHI0T 781 &1

A is false, but R is true.

A T g, dfhT R I B

Q.No: 81 Which Union Territory has the highest population density as per Census 20117
2011 & SIUAET & HER, fhd dheg AT Uder i ST g4 g 319 g?
Chandigarh
i -
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Puducherry

PEEE|

Lakshadweep

Q.No: 82 A conductor red moving with a velocity v perpendicular to a uniform magnetic field B. If the length of the rod perpendicular to both v
and B is L, the induced EMF across its ends is given by?

U ATeTeh B3 Ueh T9M a0 & B & dead 37 v & T g7 81 21 A v ofR B i1 & diaad ©g & daie L 8, df 35 O e aRa emr
forareh g e s 87

BL2v
BL%v

Q.No: 83  What is the primary goal of the BIMSTEC Free Trade Area (FTA)?

BIMSTEC Hekd STUR &1 (FTA) o1 UH 3599 11 §7?

o reduce trade barriers and enhance economic cooperatio

STHT: hH
To establish a common currency among BIMSTEC nations

BIMSTEC &1 2 Ty Qeh W11 HT ohl TTUAT &A1

To regulate trade policies globally

e smuR fiferdt @ s F S s

To promote cultural exchanges

ivplde AEH-VEH T 9e1aT &4 & e &

Q.No: 84 Which Indian space mission marked the successful launch of 104 satellites in a single mission?

SHIF-HT AL 3idier [ gad Heuur # 104 Iulgl sl GthadTdech died @ oh [olq ST olidl g7

Astrosat

TERT

GSLY Mk 11

STHTd HTeh-111
Chandrayaan-2
=qgAH-2
PSLY-C37

iggerEl-Hi37

Q.No: 85  The term "deuce” is associated with which sport?

S U= [ @el § el g2
Football

s

Basketball

‘
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Hockey

g

Q.No: 86  Which scheme was launched to promote entrepreneurship among SC and ST communities?

ot ofR TUeT aemEl & T Jamefiedr it 9T ¢ & oy S O dieHT 3% & 187
Start-Up India

TwIe-a1u Sfgan

Atmanirbhar Bharat Abhiyan

arertAdR va afsame

- a i ala

EERCL R

MUDRA Yojana
Hal it

Q.No: 87 Match the column with their descriptions:

Column A (Laws) Column B (Descriptions)
A. Llaw of Demand 1. After a certain point, increasing input leads to declining marginal product.

B. Law of Diminishing Marginal Product | 2. Demand and price move in opposite directions when income increases.

C. Law of Variable Proportions 3. Marginal product initially rises with input usage, then falls.
TN &1 I e & A &3
Y A (Fram) w9 B (fRramon)
AT =7 T 1. Gah Tl fdg < w1e, 9ol g2 o dimia e # fRmEe wrdt 81

b.5ed diHid goue s frgw | 2. T 9g U T ofR Rimd fEoda feamed & T £

c.uRedmsfier gura & fas 3. T 3 3F § $99¢ ITANT & 1Y 98T &, fthe iR wmar 81
A-3, B-2, C-1
A-3, B-2, C-1
A-1, B-3, C-2
A-1, B=3, C-2

A-2,B=-1, C=3

A-2,B-1,C-3

Q.No: 88  Which institution was established in 1961 to promote management education in India?

WA | gag 2181 &l Fera1 34 & g 1961 # fong I o T &t 718 oft?
Indian Institute of Technology (I1T)

wRdE drenfih 9=m (1)
University Grants Commission (UGC)
Tersgfaenerg arem ST (gutte)
National Productivity Council (NPC)
AW IaTEHT UREE

ndian Institute of Management (IIM
= TR (11
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Q.No: 89 Which schedule of the Constitution contains provisions for the disqualification of legislators under the anti-defection law?

HA-H oI e FY TeEed FA & dgd 3T GEYH & WY S e Sl 87
Ninth Schedule
At argeget

Eleventh Schedule

]i
!

Eighth Schedule

SICEIEE G

Q.No: 90  What is the scientific term for white blood cells?

d TR ShIfAekrait & o1y d=1en 2reg =1 372
Erythrocytes

Thrombocytes

yEaECy

=)

Platelets

eeed

Q.No: 91  Which force governs the motion of planets, stars, and galaxies?

I T I Ugl, d <1 smeprarmatt it 1fd @ Fafia war g

Muclear force

1

Magnetic force
R I
Electromagnetic force

[EECECEILER

Q.No: 92 Which principle of the Digital Personal Data Protection Act, 2023 ensures that entities collecting personal data must cbtain explicit
consent from individuals?

fsfoiee eafeamma 3o dremn Af&fmm, 2023 & sidaria F4-a1 fAgid ag gRiea orar g i 3o dugur @ ud eafad 6 T dgafd srads
8?

Purpose Limitation

Jeag diffaar gl (Purpose Limitstion)

Storage Reduction Compliance

WSRU SRt SrUTer

Data Localization

ST TR

Motice and Choice Framework

G HR GHT SATemiRd B

Q.No: 93 The Law of Diminishing Marginal Utility states that as a consumer consumes more and more units of a commodity:

Tt dimia Iuaifiar o1 FRm wgdr & e S9-o Iusie fohdt aeg & el @ SaTer giicy & JuHT & &

arginal utility derived from each additional unit decreases
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s i e St i

Total utility increases at an increasing rate.
Tl JUTIAAT Fgat &2 T Tgd! 2l

Total utility decreases.

el IuATHTaT gedt g1

Marginal utility remains constant.

HtAid Iugiiiar fERR g 81

Q.No: 94  Which of the following rivers forms a delta along the Eastern Coastal Plains?

F=fafea # @ - 78 g adta et & ez 3 rdi 82

Marmada

e

Tapi

ardt =&
Mahi

HIET T
Q.No: 95 Match the following folk forms:

Column A (Folk Form) | Column B

A. Sohar 1. Echoed love songs sung by girls and boys on hilltops

B. Chhakri 2. sung during birth celebrations, shows cultural fusion

C. Laman 3. All-night women's songs in rainy season, danced in semicircle

D. Kajri 4. Kashmiri group song with rabab, sarangi, tumbaknari
Frafafaea wte =i & Fem

IF'mA[T—l"hiﬁl:l} M B

A, HiEe 1. ugif3al & =ifeat w drgh-argfanat grr g g fEifd 1w 3

| B. BT | 2. 1 384 & S TITGT W1 ATl 48 i Aikhides affsor &l gafar 3
| C. o 3. gui =g # Id ¥ MY 7Y Aigen M, srdgaER 4

-D_aﬁ[ﬂ' 4. ", AR, grasArd & Ay seli g g

A-1,B-3, C-4, D-2
A-1,B-3, C-4,D-2
A-4, B=2, =3, D=1
A-4,B-2, -3, D-1
A-3,B-1,C-2,D-4

A-3,B-1,C-2,D-4
A-2,B-4, -1, D-3

A-2,B=4, C-1, D=3

Q.No: 96  Which of these rivers does not originate in the Peninsular Plateau of India?

Frfoiaa § 9 o9-d1 787 YRd & W YR € IgH =gl adi?
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Godavari

e 7t

T el

Krishna

W LT

Cauvery

HTed A

Q.No: 97  Which Rajput ruler defeated Muhammad Ghori in the First Battle of Tarain?
A F WUH g § HETE T ot URifeld SR aTet Tegd A e 97

Hem Chandra Vikramaditya
grdg Rmmfea

Rana Sanga

0T i

Bappa Rawal

EIRER

=

Q.No: 98 Which Mughal Emperor issued the Deccan campaign against the Marathas and spent significant time in the region?

ferdt JTeT THTe = JRIGT3H o g o AT Ioran ok 39 &3 d oi=r 9qy fadqmn?
Shah Jahan
MEsigl
Il
Jahangir
SR
Akbar
3eha

Q.No: 99  Who was the founder of the Maurya Empire?
HTH AT hT TUAT fohd SR 3 2 2fi?

Harshavardhana

handragupta Maur

ié‘

Ashoka
PG

Bindusara

faganr

Q.No: 100  What is the term for the shift of workers from agriculture to industry and services?
Y &3 A I gd Fa1 §17 61 R wffewl & wmiaRor S ufean &1 &1 fgd g2
Industrialization

afferiftereor

Urbanization

HIELET)

Occupational diversification

I IEEG I REIEEIE E

Economic transition

anfefeR TWeRmor
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PART - C (English Language and Comprehension)

Q.No: 101 Choose the antonym of ‘veracity’:

Falsehood

Accuracy

Truthfulness

Honesty

Q.No: 102 Read the following passage and answer the questions based on the passage:
The rise of e-commerce has dramatically reshaped retail landscapes around the world. Consumers now enjoy unprecedented
convenience, i.e., with only a click, we can compare prices, read reviews, and deliver goods directly to their doors. Brick-and-mortar
stores, in contrast, must contend with higher overheads—rent, utilities, and staffing—that online retailers often avoid. Many physical
shops have adopted “omnichannel” strategies to stay competitive, integrating their online and in-store experiences. For example,
customers might order online and pick up in-store or use a mobile app to check real-time stock levels before visiting. However, some
challenges still persist for small retailers because they lack the technical expertise or capital to develop user-friendly websites, and
excessive reliance on third-party delivery services can erode profit margins. Moreover, the environmental impact of rapid shipping—
packaging waste and increased carbon emissions—is increasingly under scrutiny. As e-commerce continues its ascent, the most
successful retailers will combine digital innovation with sustainable practices and a personalized customer experience.

What is the primary purpose of this passage?

To advocate for brick-and-mortar retail over e-commerce

To describe how omnichannel strategies are best

o examine both opportunities and challenges in modern retai

To explain why delivery services are harmful

Q.No: 103 Read the following passage and answer the questions based on the passage:
The rise of e-commerce has dramatically reshaped retail landscapes around the waorld. Consumers now enjoy unprecedented
convenience, i.e., with only a click, we can compare prices, read reviews, and deliver goods directly to their doors. Brick-and-mortar
stores, in contrast, must contend with higher overheads—rent, utilities, and staffing—that online retailers often avoid. Many physical
shops have adopted “omnichannel” strategies to stay competitive, integrating their online and in-store experiences. For example,
customers might order online and pick up in-store or use a mobile app to check real-time stock levels before visiting. However, some
challenges still persist for small retailers because they lack the technical expertise or capital to develop user-friendly websites, and
excessive reliance on third-party delivery services can erode profit margins. Moreover, the environmental impact of rapid shipping—
packaging waste and increased carbon emissions—is increasingly under scrutiny. As e-commerce continues its ascent, the most
successful retailers will combine digital innovation with sustainable practices and a personalized customer experience.

In context, the word “overheads” most nearly means:
Profits

IXEC0 EXpEnse

Revenues

Discounts
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Q.No: 104 Read the following passage and answer the questions based on the passage:
The rise of e-commerce has dramatically reshaped retail landscapes around the world. Consumers now enjoy unprecedented
convenience, i.e., with only a click, we can compare prices, read reviews, and deliver goods directly to their doors. Brick-and-mortar
stores, in contrast, must contend with higher overheads—rent, utilities, and staffing—that online retailers often avoid. Many physical
shops have adopted “omnichannel” strategies to stay competitive, integrating their online and in-store experiences. For example,
customers might order online and pick up in-store or use a mobile app to check real-time stock levels before visiting. However, some
challenges still persist for small retailers because they lack the technical expertise or capital to develop user-friendly websites, and
excessive reliance on third-party delivery services can erode profit margins. Moreover, the environmental impact of rapid shipping—
packaging waste and increased carbon emissions—is increasingly under scrutiny. As e-commerce continues its ascent, the most
successful retailers will combine digital innovation with sustainable practices and a personalized customer experience.

According to the passage, which of the following is NOT cited as a challenge for small retailers?

[

Your file couldn’t be accessed

It may have been moved, edited, or deleted.
ERR_FILE NOT_FOUND
High utility bills

Dependence on delivery services

nvironmental scrutin

Q.No: 105 Read the following passage and answer the questions based on the passage:
The rise of e-commerce has dramatically reshaped retail landscapes around the world. Consumers now enjoy unprecedented
convenience, i.e., with only a click, we can compare prices, read reviews, and deliver goods directly to their doors. Brick-and-mortar
stores, in contrast, must contend with higher overheads—rent, utilities, and staffing—that online retailers often avoid. Many physical
shops have adopted “omnichannel” strategies to stay competitive, integrating their online and in-store experiences. For example,
customers might order online and pick up in-store or use a mobile app to check real-time stock levels before visiting. However, some
challenges still persist for small retailers because they lack the technical expertise or capital to develop user-friendly websites, and
excessive reliance on third-party delivery services can erode profit margins. Moreover, the environmental impact of rapid shipping—
packaging waste and increased carbon emissions—is increasingly under scrutiny. As e-commerce continues its ascent, the most
successful retailers will combine digital innovation with sustainable practices and a personalized customer experience.

The tone of the passage can best be described as:

Alarmist

Enthusiastic

Sarcastic

Q.No: 106 Read the following passage and answer the questions based on the passage:
The rise of e-commerce has dramatically reshaped retail landscapes around the world. Consumers now enjoy unprecedented
convenience, i.e., with only a click, we can compare prices, read reviews, and deliver goods directly to their doors. Brick-and-mortar
stores, in contrast, must contend with higher overheads—rent, utilities, and staffing—that online retailers often avoid. Many physical
shops have adopted “omnichannel” strategies to stay competitive, integrating their online and in-store experiences. For example,
customers might order online and pick up in-store or use a mobile app to check real-time stock levels before visiting. However, some
challenges still persist for small retailers because they lack the technical expertise or capital to develop user-friendly websites, and
excessive reliance on third-party delivery services can erode profit margins. Moreover, the environmental impact of rapid shipping—
packaging waste and increased carbon emissions—is increasingly under scrutiny. As e-commerce continues its ascent, the most
successful retailers will combine digital innovation with sustainable practices and a personalized customer experience.

Which inference is best supported by the passage?
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Il retailers will eventually go fully online

Personalized experiences are key to future retail success.
Third-party delivery is always unprofitable.

Packaging waste has minimal impact on consumers.

Q.No: 107 In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in

each blank:

Modern ethical debates tend to concern the conflict between deontological and consequentialist approaches, each providing a (1)
methodology. Deontology requires respect for moral (2) irrespective of the result, while consequentialism

judges on the basis of the net (3) . Objections against pure consequentialism suggest

it will allow (4) actions if these bring about maximum overall welfare. In reply, some recommend (5) hybrid thearies
that combine obligations with outcome sensitivity.

What should come in the place of blank number 17

quarrelsome

cursary

vacuous

Q.No: 108 In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in

each blank:

Modern ethical debates tend to concern the conflict between deontological and consequentialist approaches, each providing a (1)
methodology. Deontology requires respect for moral (2) irrespective of the result, while consequentialism

judges on the basis of the net (3) . Objections against pure consequentialism suggest

it will allow (4) actions if these bring about maximum overall welfare. In reply, some recommend (5) hybrid theories
that combine obligations with cutcome sensitivity.

What should come in the place of blank number 2?

mood

conjectures

fallacies

Q.No: 109 In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank:
Modern ethical debates tend to concern the conflict between deontological and consequentialist approaches, each providing a (1)
____methedology. Deontology requires respect for moral (2) irrespective of the result, while consequentialism
judges on the basis of the net (3) . Objections against pure consequentialism suggest
it will allow (4) actions if these bring about maximum overall welfare. In reply, some recommend (5) _____ hybrid theories
that combine obligations with outcome sensitivity.

What should come in the place of blank number 37

goods

benefits

profit
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Q.No: 110 In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank:
Modern ethical debates tend to concern the conflict between deontological and consequentialist approaches, each providing a (1)
______methodology. Deontology requires respect for moral (2) irrespective of the result, while consequentialism
judges on the basis of the net (3) . Objections against pure consequentialism suggest
it will allow (4) actions if these bring about maximum overall welfare. In reply, some recommend (5) ____ hybrid theories
that combine obligations with outcome sensitivity.

What should come in the place of blank number 47

Laudable

Beneficial

Delightful

Q.No: 111 In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in

each blank:

Modern ethical debates tend to concern the conflict between deontological and consequentialist approaches, each providing a (1)
methodology. Deontology requires respect for moral (2) irrespective of the result, while consequentialism

judges on the basis of the net (3) . Objections against pure consequentialism suggest

it will allow (4) actions if these bring about maximum overall welfare. In reply, some recommend (5) hybrid theories
that combine obligations with outcome sensitivity.

What should come in the place of blank number 57

B

Your file couldn’t be accessed

It may have been moved, edited, or deleted.

ERR_FILE_NOT_FOUND

over simple

Irrelevant

Q.No: 112 In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank:
Researchers in quantum computing face the twin difficulties of (1) qubit coherence and (2) error rates. While
superconducting qubits have shown promise, maintaining coherence beyond microseconds remains (3) due to environmental
decoherence. Furthermore, scaling up the number of qubits requires (4) control electronics that themselves introduce noise. To
overcome these hurdles, teams are exploring (5) ____ techniques such as surface codes and topological qubits.

What should come in the place of blank 17
to durable
ephemeral
Permanent

Perennial
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Q.No: 113 In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank:
Researchers in quantum computing face the twin difficulties of (1) qubit coherence and (2) ______ error rates. While
superconducting qubits have shown promise, maintaining coherence beyond microseconds remains (3) due to environmental
decoherence. Furthermore, scaling up the number of qubits requires (4) control electronics that themselves introduce noise. To
overcome these hurdles, teams are explering (5) technigues such as surface codes and topological qubits.

What should come in the place of 27

negligible

Q.No: 114 In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank:
Researchers in quantum computing face the twin difficulties of (1) qubit coherence and (2) error rates. While
superconducting qubits have shown promise, maintaining coherence beyond microseconds remains (3) __ due to environmental
decoherence. Furthermore, scaling up the number of qubits requires (4) control electronics that themselves introduce noise. To
overcome these hurdles, teams are exploring (5) ____ techniques such as surface codes and topological qubits.

What should come in the place of 3?7

tractable
elusive
innate

redundant

Q.No: 115 In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank:
Researchers in quantum computing face the twin difficulties of (1) qubit coherence and (2) ___ error rates. While
superconducting qubits have shown promise, maintaining coherence beyond microseconds remains (3) due to environmental
decoherence. Furthermore, scaling up the number of qubits requires (4) control electronics that themselves introduce noise. To
overcome these hurdles, teams are exploring (5) technigues such as surface codes and topological qubits.

What should come in the place of 42

sophisticated
rudimentary

obsolete

Q.No: 116 In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank:
Researchers in quantum computing face the twin difficulties of (1) qubit coherence and (2) error rates. While
superconducting qubits have shown promise, maintaining coherence beyond microseconds remains (3) due to environmental
decoherence. Furthermore, scaling up the number of qubits requires (4) control electronics that themselves introduce noise. To
overcome these hurdles, teams are explering (5) technigues such as surface codes and topological qubits.

What should come in the place of 57

fallacious

quantum-error-correcting
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monaochromatic

Q.No: 117 Choose the correct one word substitution for: "A person who is indifferent to pleasure or pain”.

Epicure

Pessimist

Masochist

Q.No: 118  Select the correct spelling of a word meaning 'fond of company; sociable’'.
Gregareous
Gregerious

Grigarious

regariou

Q.No: 119  Fillin the blank with an appropriate article.

There is hour left for you to get ready.

‘ m

many

Q.No: 120  Identify the word that doesn't fit the part of speech needed.
She made a quickly decision without thinking.

decision

& Y]

made

thinking

Q.No: 121 Select the correct Synonym of 'ENERVATE'.
Strengthen

Revive

Motivate

Q.No: 122 Identify the error in the sentence.
By the time they arrive, the concert had ended.

time
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concert

ended

Q.No: 123  Select the most appropriate option to fill in the blank.
Listen carefully ____ what | say.

on
i
by

in

Q.No: 124 A sentence is provided in indirect speech. From the four given options, choose the one that most accurately conveys the sentence in
its corresponding direct speech.
My friend said that he could meet me after funch.

My friend said, "Shall | meet you after lunch?"

My friend said, "I could meet you after lunch."”

My friend said, "May | meet you after lunch?"

friend said, ''| can meet you after lunch.

Q.No: 125  Find the incorrect part of the sentence:
He was senior than me in college.

e 10 (gl
No error
me in college

He was

Q.No: 126  Arrange the parts to form a correct sentence:
(1) The exhibition opened to the public.
(2) visitors admired the artworks.
(3) Interactive sessions were conducted.
(4) Feedback was overwhelmingly positive.

1-2-4-3

2-3-1-4

2-3-1-4

Q.No: 127  Choose the correct phrase for the word highlighted in bold.

Let's try to think outside the box and come up with a new solution to this problem.

To reject all solutions without analysis.
To solve problems using only existing rules.

To follow traditional methods strictly.
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Q.No: 128  Choose the correctly spelt word:

Servillance

Survailance

Survilance

Q.No: 129  Which of the following is an example of cnomatopoeia?
Murmur

Silence

Baloon

Horrible

Q.No: 130  Find the incorrect part of the sentence:
She has been teaching in this school since five years.

No error
She has been teaching

in this school

[SINCE TIVE Veary

Q.No: 131 Select the antonym of "Oracular’.
Lucid
Impress

Anxious

IdealisTd

Q.No: 132 Choose the correct one word substitution for: "An ideal society marked by justice, equality, and happiness."
Oligarchy

Technocracy

Dystopia

Ttop

Q.No: 133 Rearrange the parts of the sentence in the correct order.

Inflation

P. making it difficult for househaolds

Q. to manage daily expenses

R. affects purchasing power

S. and leads to increased cost of living,

QSPR
SRQP

FORS
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RSPQ

Q.No: 134  Convert the sentence provided below from its passive voice structure to an active voice structure:
The book was read by the student in just two days.

The student was reading the book in just two days.
The book is read by the student in just two days.

The student has read the book in just two days.

he student read the book in just twao days

Q.No: 135  Select the correct active form of the given sentence.
"The book is being read by him."

He was reading the book.

e is reading the book

He has read the book.

He reads the book.

Q.No: 136  Which complex term is misspelt below?
Pseudonym
Epitaph

Circumlocution

Q.No: 137  Which of the following words means "prohibited by law or treaty from being imported or exported"?
lllegal

Banned

Contraband

Q.No: 138  Choose the correct indirect speech form of the following sentence.
Rehan said to Mallika, "The Somnath Temple is in Prabhas Patan in Gujarat."”

Rehan told Mallika that the Somnath Temple was in Prabhas Patan in Gujarat.
Rehan told Mallika that the Somnath Temple had been in Prabhas Patan in Gujarat.

Rehan told Mallika that the Somnath Temple has been in Prabhas Patan in Gujarat.

ehan told Mallika that the Somnath Temple 15 in Prabhas Patan in Gujarat

Q.No: 139  Which of the following sentences correctly uses the idiom "a slip of the tongue"?

The chef burned his hand and let out a slip of the tongue.
Sneha carefully planned her speech to ensure a slip of the tongue.

Sunita lost her balance while walking and had a slip of the tongue.
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avi misspoke during the interview, It was Just a slip of the tongue

Q.No: 140 Select the sentence with correct use of article 'the.’

Dr. Johnson met the Shakespeare in England.

alidas i1s the Shakespeare of India

Dr. Johnson saw the Shakespeare acting in King Lear.

Dr. Johnson had instructed the Shakespeare to write The Tempest.

Q.No: 141  Choose the antonym of 'Peevish’.
Suave

Flat

Tedious

Dull

Q.No: 142  Choose the sentence that uses a homonym of the underlined word:
He left the watch on the nightstand before sleeping.

he guard was assigned to night watch dut

The watch was ticking softly beside the lamp.
He set his digital watch to the right time.

She bought a new gold watch for her husband.

Q.No: 143  Choose the antonym of 'Slander'.

Mock

Blame

Abuse

Q.No: 144  Choose the correct meaning of Idiom "Cut the Gordian knot".
Create unnecessary complications
Disagree with authority

Tie unrelated issues together

Solve a problem boldly

Q.No: 145 A sentence is provided in direct speech. From the four given options, choose the one that most accurately conveys the sentence in its
corresponding indirect speech.
The officer said, "Had | known about the problem earlier, | would have helped.”

The officer said he had helped if he had known it.
The officer told if he knew about the problem, he would help.

The officer said that he know if he had helped.
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he officer said that if he had known about the problem earlier, he would have helped

Q.No: 146  Select the most appropriate optien to fill in the blank.
The boy was indifferent his studies.

on
at
in

Q.No: 147 Rearrange the following parts (P, Q, R, S) to form the most meaningful and grammatically correct sentence:
P. though he lacked international experience
Q. was selected for the Olympic squad
R. the young shooter
S. due to his exceptional performance at the national trials

PSRQ

RQPS

PRQS

Q.No: 148  Select the correct passive form of the given sentence.
"He will submit the report by Friday."

The report is submitted by him by Friday.
The report will have been submitted by him.

The report submitted by him by Friday.

he report will be submitted by him by Frida

Q.No: 149 Find the part of the sentence that contains an error:
The teacher who had conducted the workshop earlier, (1)/ along with his assistants, (2)/ have submitted the final repert to the board
(3)/ before the deadline last week. (4)

before the deadline last week (4)

ave submitted the final report to the board (3

The teacher who had conducted the workshop earlier (1)

along with his assistants (2)

Q.No: 150  Rearrange the parts of the sentence in the correct order,

The update

P. ensuring security

Q. enhanced encryption
R. and data autonomy
S. across user devices

QRPS

PSRQ
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SPQR

Q.No: 151 Find the part of the sentence that contains an error:
Each participant who registered online for the event (1)/ were given a welcome kit (2)/ along with the program schedule and map
(3)/ at the helpdesk near the entrance. (4)/

at the helpdesk near the entrance. (4)

ere given a welcome kit (2

along with the program schedule and map (3)

Each participant who registered online for the event (1)

Q.No: 152 Choose the correct indirect speech form of the following sentence.
Roshni said to Rakesh, "Time and tide waits for none."

Roshni told Rakesh if time and tide waited for none.

Roshni told Rakesh whether time and tide waited for none.

Roshni told Rakesh that time and tide waited for none.

Q.No: 153  Choose the correct one-word substitution for;
" A humorous poem of five lines"

Elegy

Limerick

Sonnet

Q.No: 154  Rearrange the parts of the sentence in the correct order,

The economic slowdown

P. reducing consumer spending

Q. in multiple industries

R. straining household incomes and
S. has led to job losses

QSPR
U RH
PR3Q

RSPQ

Q.No: 155  Find the synonym of 'Encumbrance’.

Offend
Obstacle

Ignore

Disinterest
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Q.No: 156 Choose the most suitable option to replace the underlined part of the sentence. If the sentence is already correct, select ‘No
substitution required’.
By the time we will reach, the concert will have started.

we reached

Mo improvement

we have reached

Q.No: 157  Select the synonym of Reckless.
Prudent
Cautious

Careful

Q.No: 158 A sentence is provided in indirect speech. From the four given options, choose the one that most accurately conveys the sentence in
its corresponding direct speech.
The teacher said that the sun rises in the east.

The teacher said, "The sun rising in the sast.”

The teacher said, "The sun rose in the east.”

The teacher said, "The sun has risen in the east.”

-~ — T .
he teacher said, "'The sun rises in the east.

Q.No: 159 A sentence is provided in direct speech. From the four given options, choose the one that most accurately conveys the sentence in its
corresponding indirect speech.
She said to her friend, "What a beautiful painting you have made!"

he exclaimed to her friend that she had made a very beautiful paintin
She told her that the painting is beautiful.
She exclaimed to her friend that she had made a very beautiful painting.

She shouted that painting was very nice.

Q.No: 160  Fill in the blank with the appropriate tense.
Jobin has been working all day. He tired.

can be

il Del

shall be

must be
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Q.No: 161 Which of the given options is the most logical sequencing of the following sentences to form a meaningful paragraph?

1. The primary factor in its formation was the Colorado River, which gradually carved through layers of rock, deepening and
widening the canyon.
2. The Grand Canyon was formed over millions of years through the combined forces of geological activity and erosion.
3. Weathering from wind, rain, and temperature changes further shaped the canyon’s intricate rock formations.
4. Tectonic uplift of the Colorado Plateau increased the river’s flow and erosive power, allowing it to cut deeper into the landscape.
1-3-4-2
3-2-1-4

-1-4-3

4-3-2-1

Q.No: 162  Choose the correct option to complete the sentence.

The engineer visited the construction to check the progress of the building.

site
sight

cite

Q.No: 163 Choose the most suitable option to replace the underlined part of the sentence. If the sentence is already correct, select *No
substitution required’.
The old lady was unable to climb stairs because her legs is aching constantly since morning.

is been aching constantly

ave been aching constantl

Had been aches constantly

Mo substitution reguired

Q.No: 164 Which of the given options is the most logical sequencing of the following sentences to form a meaningful paragraph?

1. He co-founded Apple Inc. along with Wozniak.
2. Steve Jobs was a visionary entrepreneur and innovator,
3. His ideas continue to influence modern technology and design.
4. Apple Inc. introduced products like iPhone and iPad.
3-1-2-4

0-1-4-3

1-2-4-3

4-3-1-2

Q.No: 165 A sentence is provided in direct speech. From the four given options, choose the one that most accurately conveys the sentence in its
corresponding indirect speech.
The teacher said, "Open your books."
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he teacher asked them to open their books

The teacher asked to open books.
The teacher ordered them opening the books.

The teacher said them open your books.

Q.No: 166  Choose the sentence that uses a homonym of the underlined word:
Please close the window before leaving.

He forgot to close the file before shutting the laptop.

| always close the curtains at night.

heir bond grew close over the years

Make sure to close the back door too.

Q.No: 167 Change the following from active to passive:
By the time the team arrived, the technicians had already repaired the control panel and tested all functions twice.

the time the team arrived, the control panel had already been repaired, and all functions had been tested twice by the technician
All functions were being tested by the time the team arrived.
Everything was fixed before the team reached the site.

The technicians repaired and tested everything twice before the team arrived.

Q.No: 168  Spot the spelling error,
Archaetype

Misanthrope

Quintessential

Resurgence

Q.No: 169  Choose the correct one-word substitution for;
"A person who hates other people or mankind"

Optimist
Egoist

Misogynist

Q.No: 170 | Choose the sentence which uses the adjective/adverb in its superlative degree correctly.
My uncle goes to that shop mostly frequently.
My uncle goes to that shop the more frequently.

My uncle goes to that shop very most frequently.

uncle goes to that shop most frequentl
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Q.No: 171 Find the part of the sentence that contains an error:
One of the guest speakers who addressed the seminar (1)/ and interacted with students (2)/ were praised widely for their clarity and
enthusiasm (3)/ during the closing ceremony. (4)

and interacted with students (2)

ere praised widely for their clarity and enthusiasm (3
during the closing ceremony (4)

One of the guest speakers who addressed the seminar (1)

Q.No: 172 Select the synonym of Diligent.

Idle
Careless
Indolent

Q.No: 173 Select the correct active form of the given sentence.
"The window had been braken by the boy."

The boy has broken the window.
The boy is breaking the window."

The boy broke the window.

he boy had broken the window.

Q.No: 174  Select the option that correctly replaces the underlined phrase in the following sentence:
The doctor gave the patient some medications after he felt some pain on his left knee.

did feel

035 felf]

had felt

was felt

Q.No: 175  The violinist played a beautiful __ during the concert.
piece
peas

peace

Q.No: 176  Select the most appropriate option to fill in the blank.
She was absorbed ____ reading.

by

T

-
o

at
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Q.No: 177  Select the correct passive form of the given sentence.
“She is painting the wall.”

The wall has painted.

he wall is being painted by her,

The wall was being painted.

The wall is painted by her.

Q.No: 178  Identify the part containing a grammatical or structural error:
Neither the Principal nor the teachers was present.

No error
nor the teachers
as pPresent

Meither the Principal

Q.No: 179 Choose the correct one word substitution for: "The practice of deliberately expressing less than what is meant.”

Euphemism

irony

Hyperbole

Litotes

Q.No: 180  Select the correct Synonym of "EXASPERATE'.
Distract

Inspire

Calm

ANN 0}

Q.No: 181  Arrange the parts to form a correct sentence:
(1) The athlete trained relentlessly.
(2) He overcame several injuries.
(3) He qualified for the finals.
(4) He inspired young players.

2-1-3-4

1-2-3-4

1-2-4-3

1-3-2-4

Q.No: 182  Which figure of speech is used in "The old lady wept a river of tears"?
Euphemism
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Alliteration

Anticlimax

Q.No: 183  Choose the correct meaning of the idiom:
*Cast pearls before swine'

Sell things at very high prices

Share secrets with close friends

Hide something precious from everyone

ive valuable things to undeservin

Q.No: 184  Choose the antonym of 'pornpous’.

Energy
Urgency

Delight

Q.No: 185 The following sentence is in indirect speech. Choose the option that conveys it in direct speech.
He said that he had been waiting there for mare than two hours before the gates finally opened.

He said, "I have been waiting here since two hours before the gates opened.”

He said, "1 waited here two hours before gates opened.”

e said, '| was waiting here for more than two hours before the gates finally opened

He said, "1 had waiting there before the gates opened."”

Q.No: 186  Convert the sentence provided below from its passive voice structure to an active voice structure.
The poem was composed by the student during the literature class.

he student composed the poem during the literature class

The student had composed the poem during the class.
The poem is being composed by the student during the class.

The student is composing the poem during the literature class.

Q.No: 187  Select the most appropriate optien to fill in the blank.
The manager was satisfied the work.

Q.No: 188  Choose the underlined part of the sentence with an appropriate idiom:

As the president of a major company, Harshith is used to being_the focus of attention.
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The elephant in the room

A dime a dozen

Under the weather

Q.No: 189 A sentence is provided in direct speech. From the four given options, choose the one that most accurately conveys the sentence in its
corresponding indirect speech.
They said, "We shall visit the museum tomorrow."

‘qq

They said they would be visiting the museum.

Q.No: 190 =

he authorities had taken the emergency steps before the storm hit

The storm was faced with emergency steps.
The authorities took emergency steps.

The emergency steps were taken before the storm hit.

Q.No: 191  Choose the antonym of ‘vindicate”:

Accuse
Defend

Justify

Q.No: 192  Select the most appropriate option to improve the bold part of the sentence.
The plane landed in the airport.

to the airport

into the airport

towards airport

Q.No: 193  Convert the sentence provided below from its passive voice structure to an active voice structure:
All the entries must have been verified by the auditor before submission.

All the entries are to be verified before submission.

The auditor was verifying all entries before submission.

All entries were verified by the auditor.
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Q.No: 194 Which of the given options is the most logical sequencing of the following sentences to form a meaningful paragraph?

1. His observations eventually contributed te his groundbreaking book, On the Origin of Species.
2. The Galapagos Islands are famous for their diverse wildlife and their role in Charles Darwin's theory of evolution.
3. This led him to propose the idea of natural selection, where species evolve over time to adapt to their environment.
4. Darwin observed that finches on different islands had distinct beak shapes suited to their specific diets.

2-4-1-3

4-2-341

1-3-2-4

Q.No: 195  Select the most appropriate option to improve the bold part of the sentence.
If | was you, | would accept the offer.

am you
have been you
(WETE YO

would be you

Q.No: 196 Fill in the blank with an appropriate degree of comparison.
Hari is than Sohan in solving mathematical problems.

most talented

‘q

talenter

Q.No: 197  Fill in the blank with appropriate prepositions.
The soldier was suspected being a spy and was put behind bars.
i
after
by

up

Q.No: 198 Choose the most suitable option to replace the underlined part of the sentence. If the sentence is already correct, select *No
substitution required’.
The team has been preparing for the match_since two months without a break.

UUU‘
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Q.No: 199 [2

&

from the airport

me from

Q.No: 200  Choose the sentence that uses a homonym of the underlined word:
The judge will sentence the accused tomorrow.

He received a ten-year sentence for the crime.
The lawyer defended the sentence fiercely.

The courtroom fell silent during the sentence.

he wrote a beautiful sentence in her diar
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